
./$60$1�7(06ø/&ø�$'$<,�%$ù9858/$5,1'$
'ø..$7�('ø/0(6ø�*(5(.(1�+8686/$5

�� %DúYXUX�IRUPXQX�GROGXUPDGDQ�|QFH��7HPVLOFLOL÷H�*LULú�øo�7DOLPDWÕ¶QÕ�
YH�DúD÷ÕGDNL�*LULú�.ULWHUOHULQL�O�WIHQ�RNX\XQX]�

�� 7HPVLOFL�$GD\�%DúYXUX�)RUPX¶QX�HNVLNVL]�ELU�ELoLPGH�GROGXUPDQÕ]�
YH�WHPVLOFL#WII�RUJ�DGUHVLQH����7HPPX]������6DOÕ�J�Q��6DDW�
�����
\H�NDGDU��H�PDLO�J|QGHUPHQL]�JHUHNPHNWHGLU��$\UÕFD��
J|QGHULOHFHN�RODQ�([FHO�GRV\DVÕQÕQ�IRUPDWÕQÕ�GH÷LúWLUPHGHQ��EX�([FHO�
GRV\DVÕQÕQ�LVPLQH�DGÕQÕ]Õ�VR\DGÕQÕ]Õ�YHUHUHN�J|QGHULQL]��

�� %DúYXUX�)RUPX¶QXQ��UHQNOL�oÕNWÕVÕQÕ�DODUDN�IRWR÷UDI�\DSÕúWÕUGÕNWDQ�
VRQUD�7HPVLOFL�øúOHUL�0�G�UO�÷���øVWLQ\H�0DK��'DU�úúDIDND�&DG��
1R����.DW���������6DUÕ\HU�øVWDQEXO�DGUHVLQH�NDUJR�LOH�J|QGHULOPHVL�
JHUHNOLGLU�

7(06ø/&ø/øö(� *ø5øù��.5ø7(5/(5ø

$���(÷LWLP ���<�NVHN�2NXO�0H]XQX�2OPDN�

%� �<Dú ��� ���\DúÕQÕ�GROGXUPXú�ROPDN�YH����\DúÕQGDQ�J�Q�DOPDPÕú�ROPDN�

&���<|QHWLFLOLN����dDOÕúWÕ÷Õ�.XUXPODUGD��VW�G�]H\�\|QHWLFLOLN�\DSPDN�YH\D�\DSÕ\RU�ROPDN�

'���6SRU�$GDPOÕ÷Õ���<|QHWLFLOL÷L����hVW�G�]H\�\|QHWLFLOLN�\DSPÕú�ROPDN��7HUFLKDQ�IXWERO�
ROPDN��]HUH�KHUKDQJL�ELU�VSRU�EUDQúÕQGD�\|QHWLFLOLN�WHFU�EHVLQH�VDKLS�ROPDN�

(���%LOJLVD\DU�.XOODQÕPÕ��,QWHUQHW��]HULQGHQ�LOHWLúLP�\DSDELOHFHN�YH�JHUHNOL�X\JXODPDODUÕ�
NXOODQDELOHFHN�G�]H\GH�ELOJLVD\DU�NXOODQÕFÕVÕ�ROPDN�

)��6SRUWLI�(QJHOOHU����$NWLI�RODUDN��IXWERO�EUDQúÕQGD�IDDOL\HWL�RODQ�VSRU�NXO�E��YH�ED÷OÕ�
NXUXOXúODUÕQGD�IDKUL�YH\D�SURIHV\RQHO�\|QHWLFLOLN��WHNQLN�DGDPOÕN��IXWEROFXOXN��IXWERO�
KDNHPOL÷L��IXWERO�J|]OHPFLOL÷L��IXWEROFX�WHPVLOFLOL÷L�YH\D�J|UVHO��LúLWVHO�YH�\D]ÕOÕ��LQWHUQHW�
GDKLO��PHG\DGD�IXWERO�\RUXPFXOX÷X�\DSPDN�YH�EXUDGD�EHOLUWLOPHPLú�ROPDNOD�ELUOLNWH��7))�
<|QHWLP�.XUXOX�WDUDIÕQGDQ�VSRUWLI�HQJHO�WHúNLO�HWWL÷L�EHOLUOHQHQ�NLúLOHU��

7))�E�Q\HVLQGH�SURIHV\RQHO�RODUDN�oDOÕúDQODUÕQ�WHPVLOFLOLN�\DSDELOPHOHULQH�7))�<|QHWLP�
.XUXOX�NDUDU�YHULU�

*��<DEDQFÕ�'LO�� ø\L�G�]H\GH�\DEDQFÕ�GLO�ELOPHN�

7(06ø/&ø/(5�.858/8


